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XnMmumyeckme ceBomcTea

B3anmogencrteme ¢ KCEHOHOM
2F2 + Xe = XeFA4.

B3anmogencrteue ¢ Metannamu
2M + nHal2 = 2MHaln.

B3anmogencrtame ¢ BOOOPOAOM.
H2 + Hal2 = 2HHal.



B3anmooencTtesue ¢ HemeTanmnamu.
2P + 3CI2 = 2PCI3;
Si+2F2 =SiF4.

B3anmogencrtene ¢ Bogow

F2+H20 =2HF + O nnu
3F2+3H20=0F2 + 4HF + H202;
Hal + H20 = HHal + HHalO.

B3anmogencrtaeune co wenovyamu
Cl2 + KOH = KCIO + KCI (Ha xonoge);
3CI2 + 6KOH = KCIO3 + 5KCI + 3H20 (npu HarpesaHunw).




B3anmopencremne ¢ cepoBogopoaoMm
H2S + Br2=S + 2HBtr.

Peakuus 3ameLleHnsa Bogopoaa B rnpeaeribHbIX
yrnesogopoaax:
CH4 + ClI2=CH3CI + HCI.

Peakumsa npncoeanHeHust K HenpeaernbHbIM YrneBoAopoJaM:
C2H4 + CI2 = C2HA4CI2.

B3anmHoe 3amelyeHue ranoreHoB2KI + Br2 = 2KBr+ 12;

2HBr + CI2 = 2HCI + Br2.
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